Free Mount Cylinder for Vacuum

Series ZCUK

A free mount cylinder with a vacuum passage in the rod to
meet the requirements for [Air cyIinder] + [Vacuum pad}.

A vacuum passage has been provided in the rod of the CUK cylinder to enable a vacuum pad to be
installed on the end of the rod.

Not necessary to provide vacuum tubing space at the end of the rod.
The area around the vacuum pad is uncluttered.

® Non-rotationg rod

A guide is provided as standard
equipment

Non-rotating rod accuracy

(no load: when the rod is
retracted on the detent plate side):

Auto switch

Reed auto switch:

D-A90] (Heavy-duty cord, in-line entry)
D-A901V (Heavy-duty cord, perpendicular entry)

Solid state auto switch:

010,016 ——— +0.8° — . D-M90J, D-M9OW (Heavy-duty cord, in-line entry)

020, 925, 932 ——— +0.5 > ,3 7 .. — D-M901V, D-M9IWV (Heavy-duty cord, perpendicular entry)
Do not apply a lateral load to the \ i bt P g

piston rod. Because the piston rod - = £

is a hollow rod, a lateral load can
cause the piston rod to bend or break. How to provide piping to the
vacuum side

® Vacuum pad (Pad diameter: o2 to 950) Cap piping

The piston rod of the vacuum side does not protrude.
<Perpendicular <Male thread> Also, the vacuum outlet tube does not move when the piston is

female thread> operating.
E— Vacuum port pressure range: —101 kPa to 0.6 MPa

Pressurize only when releasing the vacuum. At that
time, use it under the cylinder operating pressure.

Lighter weight than the cap piping.
Can also be used for air blowing.
Vacuum port pressure range: —101 kPa to 0.6 MPa

<Barb fitting> R I

1249

ZA
ZX
ZR
m
wh
0

NI NN N
=




Free Mount Cylinder for Vacuum

Series ZCUK

How to Order

B zcuk[c]ie] ]-[20]D

G I
PC zcpuk([c][16][ |-[20] D -[M9BW

[_I [
ilt-i Number of
Built-in magnet Acting 1 Auto switch auto switches
Style (Tubing method in vacuum side)/e—— | D | Double acting | Nil [ Without auto switch ] Nil | 2 pcs.
(Rod end shape) Bore size * Refer to the table below for S | 1pc
C Cap piping/Male thread 70 110 mm r applicable auto switches.
g Capé’ 'F;'”?’/ '.Da(jla'rfc;:m”;“”g 16 [16 mm| *Port thread type Built-in Magnet Cylinder Model
od piping/Male threa -
R |Rod oi inp ’/)Pagd direct mountina | .29/ 20 mm Symbol| Type Bore size If a built-in magnet cylinder without an auto
Pping. 9 25 | 25 mm Nil M5x0.8| ©10, 816, 620, 025 switch is required, there is no need to enter
32 |32 mm ' Rc1/8 232 the symbol for the auto switch.
TN NPT1/8 232 (Example) ZCDUKC20-20D
TENY| G1/8 232 Cylinder standard stroke (mm)
Note) In the case of rod piping (Q, R), TF 10,16 |5, 10, 15, 20, 25, 30
(G1/8) is not available. 20, 25, 325, 10, 15, 20, 25, 30, 40, 50

Applicable Auto Switch/Refer to Best Pneumatics No. 2 for the detailed specifications on auto switches.

Electrical =3 Load voltage Auto switch model |Lead wire length (m) Pre-wired
Type| Special function £ | Wiring (Output) . . 05(1[3]|5 - Applicable load
ent g DC AC Perpendicular|  In-line . connector
Y= P (NiD |(V)| (L) | @)
- 3-wire (NPN) 5V 12V MONV M9N ® 00 O O IC
S — 3-wire (PNP) ' M9PV M9P ® e 0 O O circuit
E 0 i —
z Grommet | 8 2 wire oay |12V i M9BV M9B ® 0 0 O O Relay,
3 oi tic indicati 3-wire (NPN) 5V 12V MONWV| MONW © @ @ | O O IC PLC
2 g%g‘f;'; g‘w;f; 'rf;” 3-wire (PNP) ’ MOPWV | MOPW | @ (@ |@ |O| O | circuit
2-wire 12V MO9BWV| M9BW | @ @ @ O O —
2 3-wire IC
5 . t 8| (NPN equivalent) | 5V - A96V A% | @ | — @ —| — || —
= — romme
= - o-wire oav | 12y [ 100V | A93V A3 (@ |— (@ —| — — | Relay,
@ No 100Vorless| A90V A90 o —| 0 — — IC circuit| PLC
= Lead wire length symbols: 0.5 m--------- Nil  (Example) MONW * Solid state auto switches = Refer to pages 796 and 797 for the details on auto switches with a pre-
1m-eeeeee. M (Example) MONWM marked with “O” are produced wired connector.
3m... L  (Example) MONWL upon receipt of order. * Auto switches are shipped together but not assembled.
Smeeeeees Z  (Example) MONWZ

How to Order Vacuum Pad Note) Refer to page 1252 for combination of cylinder and pad.

® In the case of rod end male ® In the case of pad direct mounting

ZPT |02 ||U|N- B4 ZP|04 |U|[N|- X11

— 7 T
Pad dia. (mm) l _] _] l Vacuum entry (Mounting thread diameter) Pad dia (mm)l 1—‘
02| @2 Symbol | Thread dia. | @2 to @8 | 910 to 916 | 920 to 32| 240, 850 02 - 22 Suffix
04| o4 § B4 | M4x0.7 [ — — — 04| o4 Symbol Applicable
06 | o6 £ BS | M5x08| @ L = — 06| 06 YMOO!| - cylinder model
08| o8 | B6 | M6x1 | — L] : o 08| o8 X11 | zC(D)UKB10
10 | 210 L"E.: :18 &"8“-25 — — o ° 10 | 210 Nil |ZC(D)UK316 to 32
13 | o13 ¢ Material 0 [MIOx1.25] — — 13 | @13 Note) -X11 pad: 22 to 28
16 | o016 N NBR 16 | o016 diameter and flat
20 | 020 S Silicon rubber 20 | @20 style only.
2 25
5| o U Urethane rubber 25 | 925 Material
32| 932 F Fluororubber 32| 032 N |NBR
40 | 040 GN Conductive NBR (22 to @16 only) 40 | 240 S [sii b
50 | 950 GS | Conductive silicon rubber (2 to 316 only) 50 | 950 S e
Pad tye U | Urethane rubber
~— N
applcation:  Table (1) Pad Dia./Pad Type Pad type s [-F—{Fluororubber
Refer to “Table (1. @  |mype~2a(mm)| 2 [ 4 [ 6 | 8 [10 [13 |16 |20 |25 [32 |40 |50 | [ Flat GN E;%"gugq\éeoﬁff‘
) Flat Flat (KK K B K BE B BE K BK 3K ) C | Flat with ribs Conductive sili)::on
C |Flat with ribs Flatwithribs| — | — | —|— @ (@ (@ [®@ |®@ (@ |® [® | [D | Deep GS | /b bor (0210 016 only)
D Deep Deep - =] —]|—]|®|—|®|—|®|— | ®|— Bellows U
B | Bellows Bellows ——e|e|e|/e/e|e e/ @@ |B |Excep-xit

O
3



Free Mount Cylinder for Vacuum Series ZCUK

Tubing system in ) [ .
. Model Rod end shape Applicable pad style
vacuum side L P pp P y
m Refer to next page for details.
ZCUKC
Cap piping == Vacuum —— Male thread —
—— Series ZPT -
ZCUKD Pad direct (Perpendicular vacuum
.. ad airec f le thread
Cap piping = Vacuum — , entry female thread) 7X
P PIPINg mounting
Vacuum ~ees ZR
ZCUKQ IM
Rod piping ————— Vacuum _ ===0g — Male thread = |— geries ZIP —
(With pad single unit lock ring E——__
/A
ZCUKR Q
. Vacuum s
Rod piping =————— Vacuum :I ___ Pad direct ZH
== . mountlng
ZU
/N\P ti 2
recautions Specifications YO
= = o e o o o '
| Be sure to read before han- j — Bore size (mm) 210 | o216 | zAZi:J | 025 | 032 | L—
: dlmg' : Proof pressure 1.05 MPa ZFD
" Refer to front matters 38 and " Maximum operating pressure 0.7 MPa
" 39 for Safety Instructions and 1 Minimum operating pressure 0.13 MPa 0.11 MPa PO
| Pages 844 to 846 for Vacuum , Vacuum port pressure (At vacujrr?:ell(g;teooofg (|;/| GP?/IPa) Note) SP
:_Equment Precautions. _: Ambient and fluid t t Without auto switch: —10 to +70°C (No freezing) | ————
mmmmmEmmEmmmm— mbient and fluid temperature With auto switch: —10 to +60°C (No freezing) m
A Caution Lubrication Not required
1. Do not place your finger in the clearance be- Piston speed 50 to 500 mm/s
tween the detent plate and the cylinder tube. Cushion Rubber bumper on both sides AMJ
Never put your finger between the non-rotating Stroke allowance ”'8 —
plate and cylinder tube. Your finger may be pin- Rod tip screw With or without (Pad direct mounting) AMV
ched when the piston rod retracts. - -
If your finger is caught, it could injure your finger Mour.mng Basic style -
because the cylinder outputs a considerable Applicable pad Refer to next page for details. AEP
amount of force. Note) For a cap style, supply pressure only when vacuum is released. That pressure should be less —
2. Make sure that rotational torque is not applied to than the cylinder pressure. HEP
the piston rod. If this is unavoidable, operate the
cylinder within the allowable rotational torque Reed
listed in the table below. Non_rotating Rod Accu racy qu]i[lmem

(No load/At retraction of the rod at the locking plateside)

Allowable Rotational Torque

Bore size (mm)

210 | 016 220 | 025 | 032

Bore size (mm) |210 |216 | 220 | 225 | 232

Non-rotating rod accuracy

+0.8° +0.5°

Allowable rotational torque

(N-m) 0.02/0.04|0.100.15]0.20

3. To secure a workpiece to the end of the piston
rod, tighten the workpiece onto the piston rod
with the piston rod fully retracted so that torque
is not applied to the piston rod.

4. To install a cylinder, tighten it within the torque
values indicated in the table below.

Proper Tightening Torque

Bore size hgae()i(?a%(l)tn d?;)r%lg:ar Proper tightening
(mm) (mm) torque (N-m)
210 M3 1.08 £ 10%
216 M4 2.45 £ 10%
220, 925 M5 510+ 10%
232 M6 8.04 £ 10%

O
:

1251




Series ZCUK

Standard Stroke
Applicable cylinder| Double acting style/Single rod type/Non-rotating rod
Stroke (mm) Stroke (mm)
Bore size (mm) 5 10 15 20 25 30 40 50
10 [ ] [ ] [ [ J [ [ — —
16 [ [ ] [ [ J [ [ — —
20 [ J [ J [ ] [ ] [ ] [ J [ J [ J
25 [ ] [ ] [ [ [ J [ [ [
32 [ ] [ ] [ [ [ J [ [ ()
Theoretical Output/Double Acting Type Unit: N
Bore size Rod dia. Piston area Operating pressure (MPa)
(mm) (mm) (mm?) 0.3 0.5 0.7
10 4 66.0 19.8 33 46.2
16 6 172 51.6 86 121
20 8 264 79.2 132 185
25 10 412 124 206 289
32 12 691 207 346 484

Minimum Stroke for Mounting Auto Switch

Applicable auto switch

Number of
auto switches

D-A9C], D-A9C1V

D-M9C1, D-M9C1V

D-M9CIW, D-M9CIWV

1 pc.

5

5

2 pcs.

10

5

10

Mounting

Vertical mounting (Body through-hole)

hole)

Lateral mounting
W, (Body through-

] Cylinder/Applicable Pad

o In the case of rod end male thread
Use series ZPT pad (perpendicular vacuum entry/female thread mounting).

¢ |n the case of pad direct mounting
Use series ZP pad (single unit).

Cylinder Pad (ZPT02 to 50000J-B4 to 10) Cylinder Pad (ZP02 to 500J0J)
Bore size Rod dia. (mm Thread . Rod dia. (mm
Model " |mm)[ 2 T4 [ 6] 8 [10]13 1<(5 20) 25[32[40[50| dia. Model | Boresize 11 T6 8 [10[13 1§3 20) 25[32[40] 50
zcuke 119 o000 ||| —|—|—|—|—|Mix07 D ioNotel) @@ @ | @|—|—|—|—|—|—|—|—
ZCUKQ 16 | 0/ 0/ ©/®/ ®/® ® || —|—|—|M5x08 ZCUKR 16 o0 0 e —|—|—|—|—|—|—|—
zcpuke| 20 |[—[—[—[—|e/e/e/e[@[@| | |M6x10 ZCDUKD 20 —|—[—|—|ee[@|—|—[—[—]—
ZCDUKQ| 25 | —|—|—|—|—|—|—|® | ® ® ® ® M8x125 ZCDUKR 25 — == —|— o ® & —|—
2 |—|—|—|—|—|—|— 10| ©® ® ® ® MO0x125 32 — | — ||| ]e|e®
Note) When using “ZC(D)UKB10”, use ZP02 to 08UI-X11. Pad shape is
flat only.
| Auto Switch Groove
4x04.2
‘Q/T Bore size A B
x 10 103 | 13
= 16 15 18
"H 20 21 23
I o 25 27 25
L L 32 35 | o7
Y a
1

I
>

1252

O




Free Mount Cylinder for Vacuum Series ZCUK

Proper Auto Switch Mounting Position (Detection at stroke end) and Its Mounting Height

D-M9[]
D-M9CIW
D-A90] 22 22
A (24.5) A (24.5)
[ z —
e Pl . o= * oo™
B 41 o i o o A .
O 0 ﬁ))_,/ . ] ZA
/i | ¥ [
(i -
| J ZX
S . ®
( ): Denotes the values of D-A93. —
D-M9CIV ZQ
D-M9CIWV —
D-A91V ZH
A 20 (22) A 20 (22) L
TR L —
D i Q< OB
Fresy 4l faaaus _ faasus YO
t tH e —
4 3 ¥
i ZFO
i —_—
= 5.5 (5) W P
( ): Denotes the values of D-A901V. SP
Bore size D-A9C], D-A901V D-M9C1, D-M9CIW | D-M9C1V, D-M9CIWV
(mm) A B w A B w A B w AMJ
10 12.5 3 |-15(1) | 165 | 7.5 25 | 16.5 7.5 0.5 —
16 16 4 |205[20 |8 15|20 | 8 0 AMV
20 20 6 |4(-15)] 24 10 0 24 10 -2 I
25 225 | 7 |65(3)] 265 | 115 | -1.5 | 265 | 115 | 35 AEP
32 23.5 8 |-65(-4)| 275 | 125 | =25 | 27,5 | 125 | —4.5 I
Note 1) Figures in the table above are used as a reference when mounting the auto H EP
Q switches for stroke end detection. In the case of actually setting the auto switches, P —
adjust them after confirming their operation. Related
Note 2) Negative figures in the table show dimensions mounted inside cylinder body. Equipment
Note 3) In the case of 5 mm stroke or the 10 mm stroke, there are times in which the auto
switches will not turn OFF or 2 auto switches will turn ON simultaneously due to
their movement range. Therefore, set the position approximately 1 to 4 mm outward
from the values given in the table above. Then, perform an operation inspection to
make sure that the auto switches operate normally (if 1 switch is used, make sure
that it turns ON and OFF properly; if 2 auto switches are used, make sure that both
switches turn ON).
Note 4) Figures in () in the table W are D-A93.
Operation Range (mm)
- itch del Bore size
uio switeh mode 10 16 20 25 32
D-A9C1, A9V 6 9 11 12.5 14
D-M90I, M9V
D-M9ICIW, MOCIWV 4 5 ’ ! ’

* Since this is the average value at a normal temperature including hysteresis (tolerance £30%), it is

not guaranteed.

Figures may change substantially depending upon the surrounding environment.

SVC

O

1253




Series ZCUK

Auto Switch Specifications
Mounting of Auto Switch

| Cautions on Proximity Installation | [ Mounting \

When free mounting cylinders equipped with auto switches are used,
the auto switches could activate unintentionally if the installed
distance is less than the dimensions shown in the table. Therefore,
make sure to provide a greater clearance. Due to unavoidable
circumstances, if they must be used with less distance than the
dimensions given in the table, the cylinders must be shielded.
Therefore, affix a steel plate or a magnetic shielding plate (MU-S025)
to the area on the cylinder that corresponds to the adjacent auto
switch. (Please contact SMC for details.) Auto switches may
malfunction if a shielding plate is not used.

Watchmaker's screwdriver

Set screw

Bore size (mm) Mounting pitch ¢ (mm)
10 20
16 33
20 40 * To tighten the auto switch mounting
25 46 screws, use a watchmaker’s screwdriver
32 56 with a grip diameter of 5 to 6 mm.

Shielding plate (MU-S025) dimensions Tightening torque of auto switch

mounting screws (N-m)
© Auto switch model Tightening torque
- D-A9CI(V) 0.10 t0 0.20
Material: Ferrite stainless steel, Thickness: 0.3 mm D-M9I(V)
36 The product is attached to the cylinder since the D-MOCIW(V) 0.05t00.15
bottom side is pre-treated with adhesive glue.
| Mass
Basic Style/With Auto Switch ( ): Denotes the values with D-A93. Unit: g
Bore size Cylinder stroke (mm)
Model
(mm) 5 10 15 20 25 30 40 50
10 63 69 75 81 87 93 . .
(68) (79) (85) (91) (97) (103)
16 103 115 127 139 151 163 . .
(128) (145) (157) (169) (181) (193)
180 204 228 252 276 300 348 396
ZC(D)UKC 20 (214) (244) (267) (292) (316) (340) (388) (436)
25 304 343 382 421 460 499 577 655
(358) (402) (441) (480) (519) (558) (636) (714)
32 514 574 634 694 754 814 934 1054
(587) (652) (712) (772) (832) (892) (1012) (1132)
10 49 53 57 61 65 69
(54) (63) (67) (71) (75) (79) - -
16 79 86 93 100 107 114
(104) (116) (123) (130) (137) (144) - -
145 159 173 187 201 215 243 271
ZC(D)UKQ A (179) (198) 212) (226) (240) (254) (282) (310)
25 259 279 299 319 339 359 399 439
(313) (338) (358) (378) (398) (418) (458) (498)
32 421 451 481 511 541 571 631 691
(494) (529) (559) (589) (619) (649) (709) (769)

-
1
1
1
1
[

1254

O
:

Besides the models listed in How to Order, the following auto switches are applicable.

= For solid state switches, auto switches with a pre-wired connector are also available. Refer to pages 796 and 797 for details.
= Normally closed (NC = b contact), solid state switch (D-FOG/F9H type) are also available. Refer to Best Pneumatics No. 2 for details.

R e L e e L P L P e

- R Em M R Em R R R Em R M Em m Em Em R Em mm m Em mm e e e




Free Mount Cylinder for Vacuum Series ZCUK

Construction

Cap piping/Male thread: ZC(D)UKC
o010

With auto switch

i ® GO @] 2
mzl_ fl @ {3- (3 o, [
f ' A -
Pad direct ———.\ —

mounting A
Section AA In the case of
ZC(D)UKD

016 to 932 =
With auto switch —
J NSy ek [T
m@ i. i T g m ZREE ‘___ - |ZL
Pad direct A IE 5 % A— ": [ ———— 7Y
' mounting ’ A =" =
Inthecaseof A~ 7F
Section AA ZC(D)UKD U
PO
Component Parts Component Parts m
No. Description Material Note No. Description Material Note AM J
1 _|Cylinder tubing Aluminum alloy Hard anodized 13 | Damper Urethane
2 |Rod cover B Aluminum alloy Chromated 14 | Magnet —
3 [Cap Aluminum alloy Hard anodized 15 | Auto switch — AMV
4 |Piston Aluminum alloy Chromated 16 | Rod end nut Carbon steel Nickel plated
5 |Piston rod Stainless steel 17 | Piston gasket NBR AEP
6 |Bush Oil impregnated sintered metal 18* Piston seal —
7 Pla_te Alumlnum alloy Nickel plated 19* Rod seal NBR HEP
8 |Guide rod Stainless steel 20*| Gasket L
9 |Bush Ol impregnated sintered metal 21%| Gasket for cap Related
10 |Hexagon set screw Carbon steel Black zinc chromated 22 | Seal washer Rolled steel/NBR Equipment
11| Hexagon socket head cap screw Carbon steel Black zinc chromated
12 |Hexagon set screw Carbon steel Nickel plated

Replacement Parts: Seal Kit

Cap piping
Bore size / Part no.
Kit no. 210 016 220 025 232
ZCU10-PS ZCU16-PS ZCU20-PS ZCU25-PS ZCU32-PS

x Seal kit includes (9, 19, 20 and ). Order the seal kit based on each bore size.
* Seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is needed.
Grease pack part no.: GR-S-010 (10 g)

O
:

1255



Series ZCUK

Construction

Rod piping-Male thread: ZC(D)UKQ

o010
With auto switch
Pad direct
Section AA mounting
— Inthe case of
ZC(D)UKR
016 to 232
With auto switch
@ @K@Q K@K@ t‘ﬁx z @F ?@
N s
o | 1 I |
. N ] | |
e I TG i KA
- | | - : ] =
6 —5
; Pad direct A _ 1_ S e
i mounting T
Section AA  In the case of
ZC(D)UKR 9 ®
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 |Cylinder tubing Aluminum alloy Hard anodized 13 | Damper Urethane
2 |Rod cover B Aluminum alloy Chromated 14 | Magnet —
3 |Rod cover retainer plate|  Aluminum alloy Hard anodized 15 | Auto switch —
4 |Piston Aluminum alloy Chromated 16 | Rod end nut Carbon steel Nickel plated
5 |Piston rod Stainless steel 17 | Piston gasket NBR
6 |Bush Oil impregnated sintered metal 18 | Socket Carbon steel @16 only
7 |Plate Aluminum alloy Nickel plated 19 | Gasket @16 only
8 |Guide rod Stainless steel 20*| Piston seal NBR
9 |Bush Oil impregnated sintered metal 21% Rod seal
10 |Hexagon set screw Carbon steel Black zinc chromated 22% Gasket
11 | Hexagon socket head cap screw Carbon steel Black zinc chromated 23 | Seal washer Rolled steel/NBR
12 | Hexagon set screw Carbon steel Nickel plated
Replacement Parts: Seal Kit
Rod piping
Bore size / Part no.
Kit no. 210 216 220 2925 232
CUW10D-PS CUW16D-PS CUW20D-PS CUW25D-PS CUW32D-PS

* Seal kit includes 20, @) and . Order the seal kit based on each bore size.

* Seal kit includes a grease pack (10 g).

Order with the following part number when only the grease pack is needed.

Grease pack part no.: GR-S-010 (10 g)

1256

O



Free Mount Cylinder for Vacuum Series ZCUK

Vacuum Piping: Cap Piping/Rod End Shape: Male Thread

ZC(D)UKC/Cylinder bore |—|Stroke |D

n
o
w
m
wh
0
W
n
n
a0
w0
o
»
LK
A
ANV
AEP
HEP

Related

2x@3.2
o010 Seal washer through Port size
f ) /2xM5x0.8
Lo
e (.'} — ) g
O =
.ZJ 30 + Stroke
16.5
M4x%0.7 12 Vacuum port size
‘1’ 1 i
T f 5 == 5 : R 1
s >
| o —f'. - g 1 _@ = ,
IR P | 1 5 1
- - [ &I I
= - S ||
! 2 X 3.2 through
" 10|87 4 x 06 depth 5 counterbore
15 21 36 + Stroke | 20 + Stroke
77 + 2 x Stroke
016 to 032 Port size
2 x oP through /2x M5 x 0.8 (232: 2 x 1/8)
<
P 5
o S .._G{_ B ol
Seal washer © | oS _;_,::
MM A Lﬂ‘ Vacuum port size
o 1 |
of HO -JI= O :
<l
> = T} Width across T
| flats b i il ) |
LA | 2xoP throuI h
FK A FlE "4 x @1 counterbore
B H S + Stroke | SA + Stroke
Z + 2 x Stroke |
Port size Stroke range .

Model iR EEEUTEE (mm) A | A B C |od | oD | E F | FK| FL | FY | GA | GC
ZC(D)UKC16 M5 x 0.8 M5 x 0.8 510 30 11 125] 20 | 32 2 6 7 8 | 13 | 17 |28 [165"| 31
ZC(D)UKC20 M5 x 0.8 1/8 5to 50 12 |14 26 | 40 3 8 9 8 | 16 | 20 |33 |19 33.5
ZC(D)UKC25 M5 x 0.8 1/8 5to 50 15.5| 18 32 | 50 4 10 | 10 | 10 | 20 | 22 | 435|215 |34
ZC(D)UKC32 1/8 1/8 5to 50 19.5 |22 40 | 62 5 12 | 11 12 | 24 | 29 |51.5|28 34.5

Model H| J L MM oP| Q |QA| R S SA oT Y V4
ZC(D)UKC16 26 | 14 5| M5x08 | 45| 4 2 12 | 30 (40) | 19.5|7.6 depth 6.5| 15.5 75.5 (85.5)

ZC(D)UKC20 29 | 16 6 | M6x1.0 | 55| 9 45| 16 | 36 (46) | 21 9.3depth9 | 19.5 86 (96)
ZC(D)UKC25 33 | 20 8 | MBx1.25 |55 | 9 4.5 | 20 | 40 (50) |21 9.3 depth 8 | 24.5 94 (104)
ZC(D)UKC32 42 | 24 | 10 | M10x1.25| 6.6 |13.5| 45 | 24 | 42(52) |22 | 11depth11.5| 30.5 | 106 (116)
(): In the case of a mounted auto switch. Note 1) In the case of ZCUKC16-5D: 14.5 mm.
1257

O
:

Equipment



Series ZCUK

Vacuum Piping: Cap Piping/Rod End Shape: Pad Direct Mounting
ZC(D)UKD|Cylinder bore |—|Stroke |D

o010
Pad for ZCUKD10 2 x 93.2 through Port size
(ZP02 to 08U*-X11) 2xM5x0.8
)
< : a1 f‘( & é_.
o B By )
- © |
-—{J 30 + Stroke
16.5 )
Vacuum port size
12
< . )
_ — < = v | I 1
i 3 @l@m I ]
=g = |
MY Bi= :I.E *:ﬁlﬂ- - -
e 2 | a 1 + T I ]
I s B i
I
12 5 8|7 2 x 3.2 through
15 4 x 96 depth 5 counterbore
21 36 + Stroke 20 + Stroke
77 + 2 x (Stroke)
216 to 032 Port size
2 x oP through 2x M5 x 0.8 (932: 1/8)
- <
(D, /1 ]9
el —me O / = ol
S o é
Use series ZP pad. ~ v
= EL ‘EGIA | GC + Stroke | Vacuum port size
s (=]
i) s S| 1 -
ol H&H —,Iﬂ:%mgﬁ © -
— 5] 3
>'173 & Width across |/ = T 1
flats L AN | S—
I A Y 2xoP throu%h
FK W1 FIE 4 x oT counterbore
B H S + Stroke | SA + Stroke
Z + 2 x Stroke J
Port size Stroke range .

Model i Vel 50 (mm) oA | A B C |eod | oD | E F |FK| FL | FY | GA | GC
ZC(D)UKD16 M5 x 0.8 M5 x 0.8 5to 30 5 7 20 | 32 2 6 7 8 | 13 | 17 |28 [165"| 31
ZC(D)UKD20 M5 x 0.8 1/8 5to 50 66| 8 26 | 40 3 8 9 8 | 16 | 20 |33 |19 33.5
ZC(D)UKD25 M5 x 0.8 1/8 5to 50 8 9 32 | 50 4 10 | 10 | 10 | 20 | 22 |435(21.5 |34
ZC(D)UKD32 1/8 1/8 5to 50 11.5]10.5| 40 | 62 5 12 | 11 12 | 24 | 29 |51.5|23 34.5

Model H|J L|eP| Q [QA| R S SA oT w Y V4
ZC(D)UKD16 26 | 14 5145 4 |2 12 | 30(40) | 19.5 | 7.6 depth6.5 | 3.5 | 15,5 | 75.5(85.5)

ZC(D)UKD20 29 | 16 6 |55| 9 [45]| 16 | 36(46) | 21 9.3 depth 8 5 19.5 | 86 (96)
ZC(D)UKD25 33 | 20 8 55| 9 |45 20 | 40(50) | 21 9.3 depth 9 5 245 | 94 (104)
ZC(D)UKD32 42 | 24 | 10 | 6.6 |13.5| 45 | 24 | 42(52) | 22 11depth115| 5 30.5 | 106 (116)
(): In the case of a mounted auto switch. Note 1) In the case of ZCUKD16-5D: 14.5 mm.
1258

O
:



Free Mount Cylinder for Vacuum Series ZCUK

Vacuum Piping: Rod Piping/Rod End Shape: Male Thread
ZC(D)UKQ|Cylinder bore |—|Stroke |D

010

Seal washer 2 x 3.2 through Port size 04/92.5 Urethane tube (TU0425) or
/ & / 2xM5x0.8 Soft nylon tube (TS0425)
&—+ 7
- —® o B
o— =) a
(V]
7] ' :
16.5
12
M4x0.7 < | )
— a V 1 ]
S ] @9 AT I ]
wl 2 -
,_[ gl :
0 - /i (-] T ]
s L ie% -
2 x 3.2 through ‘
0|87 4 x @6 depth 5 counterbore |5
21 36 + Stroke _|_6_J_ 7 + Stroke
70 + 2 x Stroke
216 to 832 Port size
2 x P through 2xM5x0.8(932: 2x 1/8)
o - o]
Seal washer -
E
MM FL 5
Vacuum port size
Rl === Socket (Only 16
2
B 5 @_;—@—m L M5X0.8
ol B _{E I::rﬂ e S U L Hexagon width
E 2 i wian g + s across flats 8
[ across =
. flats L N\ !_
A 2 x @P through
FK A |F|E 4 x0T counterbore| HA +
B H S + Stroke __SA| Stroke
Z + 2 x Stroke !_(1C‘l)
Port size Stroke range .

Model i Vi (mm) A A B C |od (@D | E F | FK| FL | FY | GA | GC
ZC(D)UKQ16 M5 x 0.8 M5 x 0.8 Note2) 5 to 30 11 125| 20 | 32 2 6 7 8 | 13 | 17 |28 [165"" 19
ZC(D)UKQ20 M5 x 0.8 M5 x 0.8 5 to 50 12 |14 26 | 40 3 8 9 8 | 16 | 20 [33 |19 |215
ZC(D)UKQ25 M5 x 0.8 M5 x 0.8 5to 50 15.5]18 32 | 50 4 10 | 10 | 10 | 20 | 22 |435|215 |22
ZC(D)UKQ32 1/8 1/8 5to 50 19.5| 22 40 | 62 5 12 | 11 12 | 24 | 29 |51.5|23 |225

Model H |HA| J L MM oP| Q |QA| R S SA oT Y V4
ZC(D)UKQ16 26 | 5 | 14 5| M5x08 |45| 4 |2 12 |30(40) | 7.5|7.6depth6.5| 15.5| 68.5(78.5)

ZC(D)UKQ20 29| 5 | 16 6| M6x1.0 |55| 9 (45|16 |36(46) | 9 9.3depth8 | 19.5| 79 (89)
ZC(D)UKQ25 33| 5 | 20 8 | M8x125 |55| 9 |45 |20 |40(50) | 9 9.3depth9 |24.5| 87 (97)
ZC(D)UKQ32 42 | 5 | 24 | 10 | M10x1.25 | 6.6 [13.5| 45| 24 [42(52) | 10 | 11 depth 11.5 | 30.5 | 99 (109)

(): In the case of a mounted auto switch.

Note 1) In the case of ZCUKQ16-5D: 14.5 mm.

O
:

Note 2) In the case of socket equipped type.

1259

n
o
w
m
wh
0
W
n
n
a0
w0
o
»
LK
A
ANV
AEP
HEP

Related
Equipment




Series ZCUK

Vacuum Piping: Rod Piping/Rod End Shape: Pad Direct Mounting
ZC(D)UKR [Cylinder bore |—|Stroke | D

Pad for ZCUKR10
210 (ZP02 to 08U*-X11)

2 x 3.2 through Port size 04/92.5 Urethane tube (TU0425) or
/ » /2 x M5 x0.8 Soft nylon tube (TS0425)
o
p 3
e_l—_
ij 16
16.5
12
3 | —1
f o —— i |
(=2
1T FE e e =
3§ "’(:F ) d S} ="
= - I T ]
A | ® LT - [ ]
! ' 2 x 83.2 through
i 5 8|l 7 4 x 06 depth 5 counterbore __| 5
15 21 36 + Stroke |6 | 7 + Stroke
70 + 2 x Stroke
Port size
216 to 032 2 x oP through 2x M5 x 0.8 (032: 2 x 1/8)
<
[}
E—=3dl
Vacuum port size
[ B ] Socket (Only o616
A==t 2 @—m . ‘i / M5x%0.8
OE 1 = E [H]HE_L - s [ y o
= 1] it 7 —=tty Hexagon width across flats 8
> O 5 Width across % I 1
flats L i AN
| A 2 x gP through
FK FIE 4 x0T counterbore | HA +
B H S + Stroke _|SA_Stroke
Z + 2 x Stroke —!(1Q)
Port size Stroke range
Model e T (mm) oA | A B | C |ed | eD| E F |FK| FL | FY | GA | GC
ZC(D)UKR16 M5 x 0.8 M5 x 0.8 Nete 2) 5to 30 5 7 20 | 32 2 6 7 8 | 13 17 |28 [165" 19
ZC(D)UKR20 M5 x 0.8 M5 x 0.8 5 to 50 66| 8 26 | 40 3 8 9 8 | 16 | 20 |33 19 [215
ZC(D)UKR25 M5 x 0.8 M5 x 0.8 5 to 50 8 9 32 | 50 4 10 | 10 | 10 | 20 | 22 |43.5|21.5|22
ZC(D)UKR32 1/8 1/8 5 to 50 11.5[105]| 40 | 62 5 12 | 11 12 | 24 | 29 |515|23 |225
Model H|HA| J | L |oP| Q|QA| R S SA oT W |Y y4
ZC(D)UKR16 26 | 5 |14 5 (45| 4 |2 12 | 30 (40) 7.5 | 7.6depth6.5 | 3.5 |15.5 | 68.5(78.5)
ZC(D)UKR20 29 | 5 |16 | 6 55| 9 |45 |16 | 36(46) 9 9.3 depth 8 5 19.5 | 79 (89)
ZC(D)UKR25 33| 5 |20 | 8 |55 9 [45 |20 | 40(50) 9 9.3 depth 9 5 24.5 | 87 (97)
ZC(D)UKR32 42 | 5 |24 |10 | 6.6 |135/45 |24 | 42(52) | 10 |11depth115| 5 30.5 | 99 (109)
(): In the case of a mounted auto switch. Note 1) In the case of ZCUKQ16-5D: 14.5 mm. Note 2) In the case of socket equipped type.

1260 ZS\VC



Free Mount Cylinder for Vacuum Series ZCUK

| Dimensions of Pad Mounted Model

Rod end shape: Male thread

Tubing bore: 10

Tubing bore: 016 to 050

—
ar |
QL] 8-
=
(.
Model Flat/Flat with ribs Deep Bellows Applicable —
Dia.(mm) | 2 [ 4 | 6 | 8 [10 [13 [16 |20 [25 |32 |40 [50 |10 [16 |25 [40 | 6 | 8 [10 [13 [16 |20 [25 [32 [40 [50 | pad model 7X
oDQ [26l48[7 |9 |—[—|—|—|—|—[—|=]—|—]=]=l7]o9|—[—|—]—]—]=[—|— e
ZC(D)UKC10 —
zc(pyukatol HQ  [19.510.5/18.519.5| — | — | —|—|—|—[—|—|—|—|—[— 0505 —|—|—|—|—]|—|—|—]| ZPTOOO-B4 7R
HP  [3.5[3%6.536.5036.5| — | — | — | — | — | — | —|—|—|—|—|—lansprs| — | — [ — | — | —|—|—[—
oDQ [26[4.8][7 |9 [12]15[18|—|—|—[—|—[12]18]|—[—=[7 ]9 [12[1s[18 | —[—|—[—]— P
gggg;gﬁg}g HQ _ [19.5[19.5[19.5/19.521 |21 [21.5] — | — | — | — | — |24 |25 | — | — [20.5020.5]25 [7.5]29 | — | — |— |— |—| zptooo-Bs  |ZM
HP  [41.5/41.5/41.5[41.5/44 [42 42.5| — | — | — | —| — 45 |46 | — | — [42.5142.5]46 [48.5]50 | — | — | —|— | — —
ZC(D)UKC20 oDQ | —|—|—|—[12]15[18 (23 |28 |35 |—|—[12 |18 |28 |—|—|—[12 [15 |18 [22 |27 |34 | — | — ZMA
zo(pyukazol HQ | —|—1—|—21[21 1.5[23 |23 35| — | —[24 |25 |20 | — | — | —[25 27.5/29 2.5/33 [38 | — | — | ZPTOO-BE  ——n
HP | —|—|—[— 44 |44 [44.5]46 |46 |46.5| — | — |47 [48 |52 | — | — | — |48 [50.5[52 [55.5|56 |61 | — | — 70
ZC(D)UKC25 oDQ |—|—|—[—[—[—[—[23]28[35[43[53|—|—|28 43| —[—[—[—[—[22]27 |34 [43 |53 ==
HQ |—|—[—|—[—|—|—[29 |29 [2.5]32 [33 | — | —[35 [42.5| — | —|— | —|— [38.5[39 |44 [47.5[51.5| ZPTOOI-B8
ZC(D)UKQ25 ZH
HP | —|—|—[—|—|—|—|54 |54 [54.5/57 |58 | — | — |60 |67.5] — | — | — | — | —[63.5|64 |69 |72.5[76.5
oDQ |—|—|—|—|—|—|—[23]28[35[43 |53 | —|—|28 |43 |—|—|[—[—[—[22]27 |34 |43 |53 —
ZC(D)UKCS2 ™ o1 1 T T || _[_[32 |32 [32.5/35 |36 | — | — |38 [45.5] — | — | — | — | — [41.5]42 |47 p0.5]54.5 zpTooo-B10  |ZU
ZC(D)UKQ32
HP | —|—|—[—|—|—|—|64 |64 |p4.5/67 [68 | — | — |70 [77.5] — | — [ —|— | —[13.5|74 [79 [82.5]86.5 —
Rod end shape: Pad direct mounting S
Tubing bore: 10 Y[
0-‘_%11—[»@ ég
S % ZFO
HQ ;'_-— —
ali ZP0]
Model Flat/Flat with ribs Deep Bellows Applicable —
Dia.(mm) [2 [ 4 [ 6 [ 8 [10 [13 [16 |20 |25 |32 |40 50 [10 [16 [25 [40 | 6 | 8 [10 [13 |16 |20 |25 |32 [40 [50 | pad model SP
oDQ [26[48(7 |9 |—|—|—[—|—|—|—|—|—|—|—|—|—=|—=|—|—|—|—|—|—[—|— Note) =00
ZC(D)UKD10
ze(pyukrigl—HQ [10 10110 110 | —|—|—|—|—|—[—|—|—|—|—]—|—|—]—|—|—[—|—]|—|—|—]| ZPOUD-XI1 m
HP 2626 |26 (26 | — |—|—|—|—|—|—|—|—|—|—|—|—|=|—|—=[—|—|—=|—|—[—
oDQ [26[48[7 |9 |[—[—|—[—|—|—]—]=]=]—]=]=Il7]o9|=—[—]—]=]=]=[=]—
ZC(D)UKD16 AMJ
ze(pyukriglHQ 1212112 12 | —|—|—|—|—|—[—|—|—|—|—[—N8 18] —|—|—|—|—]|—|—|—]| ZPOODO
HP (313131 (31| —|—|—|—|—|—|—|—|—|—|—|—[32[82|—|—|—|—|—|—|—|— —
2c(D)UKD20|209 | —|—[—|—T12[15 18 |~ [ —[—[—[—Tr2 18 || —|—[—T12 [15 [18 |~ [~ |~ —[— AMV
HQ |—|—[—|—[12|122s|—|—|—|—|—[15]16|—|—|—|—]16[185]20 | —|—|—[—|—]| zPOOO —
ZC(D)UKR20
HP | —|—|—|—|33[3338.5|—|—|—|—|—|36 (37 |—|—|—|— (87 [95/41 |—|—|—|—[— AEP
oDQ | —|—|—|—|—|—|—[23]|28[35|—|—|—|—[28|—|—|—|—[—|—[22]27 [34 | — | — L—
ZC(D)UKD25
ze(Dyukras| HQ [—[——|—|—[—[—14 145 —|—|—[—|20|—|—|—|—|—|—[B5[24]29 | —|—]| ZPOOD) HEP
HP  [—[—|—|—|—|—|—[s8[38 385 —[—[—[—[44|—[—|—|—|—|— 47548 [53 [—[—
oDQ |—|—|[—|—|—[—|—|—|—|—[48]|53|—|—|—[48|—[—|—|—|—|—[—|—]43]53 Related
ZC(D)UKD32 ;
zo(oyukraz| HQ [—|—I—|—|—[—|—|—|—|—|85/95 —|—|—]29 |—|—]|—|—|—|—|—]—|3438| ZPOODI Equipment
HP  [—[—|—]—|—]—]—=]=]=]=]50[51 [=[=]=160.5] = | =] =] —=]—=[—=[—[—165.5[69.5
Note) ZPOOUO-X11: Flat type only.
! Accessory Dimensions (Attached only to a rod end male thread type.)
Rod end nut Seal washer
¢| Core sheet
=N d P
3 4
] O
N/ i
H B t Material: Core sheet — Rolled steel
Material: Carbon steel Seal — NBR
Part no. | Applicable cylinder bore (mm) d H B C D Part no. Applicable cylinder bore (mm) t D
NTP-010 10 M4x07 |24 | 7 |81 |68 WCS4 x0.7 10 1.2 11.5
NTJ-015A 16 M5x0.8 | 4 | 8 [92 |78 WCS5 x 0.8 16 1.2 125
NT-015A 20 M6x1.0 | 5 [ 10 [11.5/9.8 WCS6 x 1 20 1.2 14.0
NT-02 25 M8x1.25 | 5 | 13 [15.0[12.5 WCS8 x 1 25 1.6 15.5
NT-03 32 M10x1.25 | 6 | 17 [19.6]16.5 WCS10 x1 32 1.6 18.0
Y 1261

Z

SVC



	ZCUK Free Mount Cylinder for Vacuum
	How to Order
	Precautions, Specs, Non-rotating Rod Accuracy
	Std Stroke, Theoretical Output, Minimum Stroke for Mounting Auto Switch
	Proper Auto Switch Mounting Position
	Auto Switch Specifications
	Construction
	P. 2

	Dimensions
	P. 2
	P. 3
	P. 4
	P. 5





